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27.10       1)   

x yx y 1 x y 5 α , 2 β

x 1 y x y

3α 2β 593 5 2 59 3 5 2 2 59

5α β 1335 2 133 5 5 2 133

  



         
    

       
 

 

3α 2β 59 3α 266 10α 59 13α 325

β 133 5α β 133 5α β 133 5α

       
     

      
 

 

 
x x 2

y y 3

α 25 x 25 25 5 5

β 8 y 32 8 2 2

     
      

    
   

27.10       2)   

x yx y 2 α , 5 β

x y

3α β 13 0 β 3α 133 2 5 13 0

α 2β 54 α 6α 26 542 2 5 54

            
    

        
 

 

 
y

x

β 3α 13 β 25 y 25 25

7α 28 α 4 x 22 4

      
      

    
 

27.10       3)   

x yx y 3 α , 7 β

x y

4α 3β 15 4α 3β 154 3 3 7 15

α 5β 44 α 44 5β3 5 7 44

           
    

       
 

 

 

  176 23β 15 23β 1614 44 5β 3β 15

α 44 5β α 44 5βα 44 5β

       
     

      
 

 

 
y

x

β 7 y 17 7

α 9 x 23 9

   
    

  
 

27.10       4)   

x yx y 4 α , 6 β

x y

2α 3β 14 44 2β 3β 142 4 3 6 14

α β 22 α 22 β4 6 22

            
    

      
 

 

 
y

x

5β 30 β 6 y 16 6

α 22 β α 16 x 24 16

     
      

     
 

27.10       5)   

x yx 1 y x y 3 α , 5 β

x y 1 x y

3α β 1063 5 106 3 3 5 106

α 5β 1523 5 152 3 5 5 152

  



       
    

      
 

 

 

 

β 106 3α β 106 3α β 106 3α

α 5 106 3α 152 α 530 15α 152 14α 378

       
     

       
 

 

 



y y 2

x x 3

β 25 y 25 25 5 5

α 27 x 33 27 3 3

    
      

    
 

27.10       6)   

x y

x y

x y 1 5 α , 4 β

x
x 1 y 2 y

5 4 4 9 α 4β 9
5 4 9

α5
16β 695 4 69 16 4 69

55

  

 

      
   

    
       



 

 

α 4β 9 9 4β α α 9 4β

α 80β 345 9 4β 80β 345 84β 336

       
     

       
 

 

 
x x 2

y y 1

α 25 x 25 25 5 5

β 4 y 14 4 4 4

    
      

    
 

27.10       7)   

x y

x y

x y 3 3 α , 2 β

x
y x 3 y

3 8 2 49 α 8β 49
3 2 49

α3
β 12 3 1 2 1

2727
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

      
   

    
      



 

 

 

α 8β 49 α 49 8β α 49 8β

27β α 27 27β 49 8β 27 19β 76

       
     

       
 

 

 
x x 4

y y 2

α 81 x 43 81 3 3

β 4 y 22 4 2 2

    
      

    
 

 
 


